SAP ABAP table BAPICD INSOB] PARTNER CORR D {FS-CD: BAPI Structure IO Partner Corr. Data (Display)}

BUTO000
BAPICD INSOBJ PARTNER CORR D-CORRESPONDENCE RECIPIENT = BUT000-PARTNER
et ST o - °N | CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

) N— BAPICD INSOBJ PARTNER CORR D-PARTNER = BUTO00-PARTNER _0=N

TFKO70A
¢ _N "BAPICD INSOBJ PARTNER CORR D- 66f€f{E_sf>61§115E_1\3(:—E_ ACTIVITY ID = TFKO70L-CORR ACKEY  O--N [COTYP [CHAR (4)]

TFKO70L

BAPICD INSOBJ PARTNER CORR D-CORRESPONDENCE ROLE = TFKO70M-CORR ROLE 0..N | MANDT [CLNT (3)]

- CORR_ACKEY [CHAR (4)]

T T - TFKO70M

__________________________ MANDT [CLNT (3)]

CORR_ROLE [CHAR (4)]




